


mO| H[AZ] BEE 2| 22cm Mo |1 22 2

=A== {(e))
425 600, O2=22F 60, HE] 300,
LEX 6M, 7100, 22 12

Ol

(I g
| BEEEN OlEEEYS
2 @0 712 HEE g1
BEIE &Y H= & Eglsirt.
i

3 QO 23T A =EAL RRE 21 =S

4 @8 /Lo M = 4

HAlof 10~15824 ZOofECE,

£

OfRE Sl Hhx
H=ZE S (g)

B{E{ 250, MEF 250, O}==8E 250,
A2t 250, EIEE 60, x[a|u+o|§'gl 400

O b
o=

3 @ M2 & wEEN H2IE €Y

2EL 228
HE Z8F(g)
A2k B8R} 2~37, A TH 300

3| U7t TSt

=
rm
ik
_2—!__
_}'g
34>
>
_t:__l
40
o
]
ﬂ

AT AP MalmolZy HEy

Ol= =

G 7t

1 'Io] B2 B 8 25~3mm FAHZ &
2 @0 ‘of===E HE g HBi

3 @9 ol ‘mo| tlA%
o]

gk
@9 floff B2t~ 2¥ & UIECH CAR3).
= 2

riok
g
o
hul

=
5 @9 fl0f FHLPHE =% 2l § ZES ot (A,

6 ®S 180C LM 25~308 &
7 ©9 o HALRHLY HE|mo|Z

19994 98l& @






